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(ef1 : HHM)
= 5 SHSEI/H SHAEIHHEA SHSEIH/E
“* £ % % £ % % £
% 2 |Ht@mBEB| 165272 | 83691 | 173,614 | 88437 | 179,232 | 92,655
& 2 |me@Ess| 203281 | 112,001 | 197,507 | 115,437 | 205,211 | 120,878
kg HtasE 682 612 655 550 358 306
B I | #®itEss 829 1.787 684 1.086 381 759
D =T 2,
=EH - HIEZDEE
D=
KE%I CIEPN|
=3 bal SHSEI/H SM4EIFH SHSEIAEA
& A 8,287 8,162 8,047
& A 2.666 2,666 2,689
= § 10,953 10,828 10,736
N Hjﬁﬁ (841 : EHM)
=3 bal SHSEI/E SHAESHE SHSEIHE
& A 434 435 433
= A 137 143 150
a £t 572 579 583
L L= EES (84 %)
=3 bal SHSEIR/E SHAESHE SHSEIAE
H & B F E 3.0 3.0 3.0
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